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Exercise 2A

Post-Development Curve Number



Exercise 2A Materials

In your participant guide:
 Exercise 2A Instructions

— Use this sheet to jot
down your results
and notes



Exercise 2A Materials

VRRM 4.1
New Development
Spreadsheet

* Open Exercise 1A
spreadsheet



Exercise 2A

Post-Development Curve Number

Site Information: Determine:

* Dralnage area = 6.7 acres | O Approximate curve
number for one-year

* Post-development land
storm

cover

2 Post-development one-
year runoff volume
(watershed inches)

— Managed turf = 4.75 acres

— Impervious cover = 1.95 acres

— Assume “C” soils

* One-year rainfall = 2.6 inches



Solution



Exercise 2A (Post-Development
Curve Number)

ﬂ From Exercise 1A

n.n.a T 1T 11 1T -k

Light green = Managed turf
Dark gray = Building
. Light gray = Parking and
> sidewalks

Site tab




Exercise 2A (Post-Development
Curve Number)

eEnfer areas on Drainage
Area A tab

Drainage Area tab




Exercise 2A (Post-Development
Curve Number)

Runoff Volume and CN

Enter 2.60 inches for one-year storm on
Runoff Volume and Curve Number tab




Exercise 2A (Post-Development Curve Number)

Review Drainage Area A summary

information

Weighted or composite curve number (CN) = 81
« No CN adjustment
 P-BMPs not yet added—no runoff reduction

—




Determine post- e
development one-year
runoff volume in watershed
inches = 1.01inches

Adjusted CN of 81 is unchanged TR-55 Runoff
Equations 2-3 and 2-4

Module 5
1000 1000 | S = potential maximum
~CN 10 = 81 10 = 2.35 in | retention after runoff
begins, Inches

—



Determine post- e
development one-year
runoff volume in watershed
inches = 1.01inches

Adjusted CN of 81 is unchanged TR-55 Runoff
Equations 2-3 and 2-4

Q calculated using P and $§ Module 5
_ 1000 10 = 1000 10 = 2.35
— N — 51 = AL. n

Q = runoff depth, inches
(Runoff volume also expressed as runoff depth)

—



Determine post- e
development one-year
runoff volume in watershed
inches = 1.01inches

in VRRM CN adjustment is the same TR-55 Runoff
as(QJin TR-55 Runoff Equation Equations 2-3 and 2-4
Module 5
1000 1000 ,
= —10=—-—-10=235in

CN 81

~(P-025)% [2.6— (0.2 % 235)]?

P + 0.8S
Q = runoff depth, inches

2.6 + (0.8 X 2.35)

(Runoff volume also expressed as runoff depth)

—




Questions?
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